PROBLEMAS DE FiSICA Y QUIMICA - 3ESO
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METODO CIENTIFICO, LA MEDIDA .NS FCDRHM(.;_

Problema 127: Realiza los siguientes cambios de unidades:

a) 1,75 dam? (a m?) =

2 2
1,75 dam® = 1,75 dam’ 11(()1 m2 =1,75-10° m* = 175m?
am
b) 1,75 dam’ (a m’) =
3 3
1,75 dam’ = 1,75 dam’ 1(()1 m3 =1,75-10° m* = 1750 m®
am
¢) 950 m* (a hm?) =
5 ) 1 hm? -4 2 -2 2 2
950 m~ = 950 m 0 =950-10"" hm~ = 9,50-10" " hm~ = 0,095 hm
m
d) 950 m* (a hm’) =
3 3 1hm’ 6 1,023 41 3 3
950 m” = 950 m 10 o = 950-10"" hm” = 9,50-10"" hm” = 0,00095 hm
m
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